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SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 36,000
s 992,714
oIS X2t SALAE 52,000 52,000 0
= 15,600
Ea 36,400
307 gl2to| & 52,000 52,000 0
=S 15,600
s 36,400
10 Al SXA2EE 22X 52,000 52,000 0
OFHU=R2 SA === (209) 52,000
— SRS 200,000 x20E «12& 48,000
S 14,400
= 33,600
—g&3Ad=H 100,000& «20H *23] 4,000
= 1,200
o 2,800
ZOHRISRIAIE BAKE(HZ=, KISALSIHEAIE) 160,361 158,067 2,294
< 48,108
[Ea 112,253
307 212+01& 160,361 168,067 2,294
& 48,108
= 112,253
10 Al2ISXIAIEEE 22X 160,361 188,067 2,294
OZOHASRIAIE (HZF, XIHALS]) S ALK~
(7H2,63H) 160,361
— SRS 200,000 63 *123] 151,200
=S 45,360
s 105,840
—HEHASE 9,161
= 2,748
s 6.413
SOHAXSIHEAE SAHE 15,600 15,600 0
= 4,680
Ea 10,920
307 gl2to| & 15,600 15,600 0
=S 4,680
s 10,920
10 Al SXAEEE 22X 15,600 15,600 0
OZOHAMATHEAE SAEASE (1DH4, 6
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MEOISXYEH 2 102,820 96,100 6,720
< 6,120
= 96,700
307 elztol & 102,820 9,100 6.720
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OHRI=RIRIES]) 102,820
= 6,120
o 96,700
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< 25,470
T 85,730
307 glztol & 111,200 99,917 11,283
== 25,470
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[Ea 9,852
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== 12,979
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101 e124d| 86,524 55,174 31,350
= 43,262
S 12,979
o 30,283
04 JIZtN2Z2 XS 86,524 55,174 31,350
OFope! Lxtel X (6F) 86,524
—QI24H| 1,005,200 x6E « 12 72,381
= 36,190
= 10,858
o 25,333
—Exs HEg=2 1,005,200 6 *1& 6,032
= 3,016
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= 4,0%6
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=S 4,058
s 9,470
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& 3,879
= 9,051
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101 ©1AH| 59,592 56,104 3,488
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OO0l LXtel XIH(4E) 59,592
—QI24H| 1,005,200 x4H 12 48,254
—E33 1,154,400 x4 4,618
—4AUEE= 140,000 x4 x 122 6,720
LML LA 22X 54,752 0 54,752
= 27,376
= 8,213
Ea 19,163
307 gl2to| & 54,752 0 54,752
= 27,376
= 8,213
= 19,163
05 212t S 54,752 0 54,752
OZE2TML QLALSSAI B Litel 54,752
= 27,376
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